Aufgabe 1
	A
	1110 : 2 =
	11 ( 3 =
	54 : 27 =
	500 - 156 =

	
	
	
	
	

	B
	49 : 7 =
	444 : 2 =
	18 ( 7 =
	36 : 18 =

	
	
	
	
	

	C
	130 ( 4 =
	700 - 178 =
	75 : 15 =
	25 ( 9 =

	
	
	
	
	


Aufgabe 2
	11 ( 8 - 2 ( 8 : 4    
	
	9 ( 5 + 3 + 9
	

	119 - 28 - 12 : 3     
	
	5 ( (16 - 10) ( 7
	

	2 ( 6 ( 15 ( 0          
	
	204 - (81 + 39)
	

	2 ( (72 - 32)
	
	85 - 33 - 43
	

	6 ( (16 + 16)
	
	72: 6 - 48 : 6
	


Aufgabe 3

	  238 : 7
	
	5 ( 28
	

	  288 : 8
	
	8 ( 33
	

	  235 : 5
	
	6 ( 19
	

	2560 : 8
	
	4 ( 26
	


ösungen:
Aufgabe 1
	A
	1110 : 2 =
	11 ( 3 =
	54 : 27 =
	500 - 156 =

	
	555
	33
	2
	344

	B
	49 : 7 =
	444 : 2 =
	18 ( 7 =
	36 : 18 =

	
	2
	222
	126
	2

	C
	130 ( 4 =
	700 - 178 =
	75 : 15 =
	25 ( 9 =

	
	520
	522
	5
	225


Aufgabe 2
	11 ( 8 - 2 ( 8 : 4    
	=   84
	9 ( 5 + 3 + 9
	=   57

	119 - 28 - 12 : 3     
	=   87
	5 ( (16 - 10) ( 7
	= 210

	2 ( 6 ( 15 ( 0          
	=     0
	204 - (81 + 39)
	=   84

	2 ( (72 - 32)
	=   80
	85 - 33 - 43
	=     9

	6 ( (16 + 16)
	= 192
	72: 6 - 48 : 6
	=     4


Aufgabe 3

	  238 : 7
	=   34
	5 ( 28
	=  140

	  288 : 8
	=   36
	8 ( 33
	=  264

	  235 : 5
	=   47
	6 ( 19
	=  114

	2560 : 8
	= 320
	4 ( 26
	=  104


